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DI MIXED - IV 
 
Directions for Questions 1 to 5: Answer the questions on the basis of the information given below. The recruitment 
test of a company had several questions. Three candidates namely Rohan. Tarun and Anup appeared for this test. This 
test had four sections A, B, C and D each candidate is awarded 2, 3, 5, and 6 marks for solving any questions correctly 
A, B, C and D respectively. The following table provides information about the marks obtained by each candidate in 
different sections as percentage of the total marks obtained by them in the test. Assume that the marks are awarded if 
and only if a candidate solves a question correctly. 
 

Section Rohan Tarun Anup 

A 34% 32% 50% 

B 18% 18% 10% 

C 20% 20% 15% 

D 28% 30% 25% 

 
1. What can be the minimum aggregate marks obtained by Rohan, Tarun, and Anup together in the recruitment test? 

 a) 1000 b) 800     c) 900         d) 1200   d) 700 
 
Additional Information for questions 2 to 4: 
The aggregate marks obtained by Rohan, Tarun, and Anup is 1900 and the marks obtained by Rohan is not less than 
the marks obtained by Anup. 
2. The difference between the marks obtained by Anup in sections C and D is 

a) 120 b) 45 c. 60        d) 90   d) CND 
 

3. If the marks obtained by Tarun is less than the marks obtained by Anup, then which of the following may possible 
be the marks obtained by Rohan in the recruitment test? 
a) 600 b. 900 c. 800 d) 300  e. 1500 

 
4. Which of the following cannot be the marks obtained by Tarun in section B? 

a) 72 b. 18 c. 126 d) 36 e) None of these 
 
5. Which of the following statements is definitely false? 

a. The ratio of the marks obtained by Tarun and Anup in section A is 2:25. 
b. The marks obtained by Rohan and Tarun in section A are the same. 
c. The sum of the marks obtained by Anup in section C and Tarun in section D is 115. 
d. The ratio of the aggregate marks obtained by Tarun and Anup in the recruitment test is 6:7. 
e. None of these 

 
Directions for questions 6 to 9: Answer the questions on the basis of the information given below. 
 
The line graph provides information about the weight (in ‘000 tonnes) of eight different crops namely Rice(R), 
Wheat(W), Pulse(P), Maize(M), Jowar(J), Potatoes(PO), and Onions(O) produces in India. 
 
The bar graph provides information about the weight (in ‘000 tonnes) of the crops produces in ten different states of 
India namely Haryana (HR), Uttar Pradesh(UP), Punjab(PB), West Bengal(WB), Madhya Pradesh(MP), Gujarat(GJ), 
Tamil Nadu(TN), Andhra Pradesh(AP), Karnataka(KR) and Maharashtra(MR). 
 
Assume that these eight mentioned crops are the only crops produced in India and that these ten mentioned states 
are the only states in India that produced crops. 
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6. If W, P, B and M are the only crops that are produced in the states of HR, UP, PB and TN, then the weight of the 
crop P produced in the state GJ as a percentage of the total weight of the crops produced in the state GJ cannot 
be more than 
a) 88.75% b) 80.5% c) 86.25% d) 81.25%  e) 85.75% 

 
7. If the crops PO and O are produced in exactly 3 states and no other crop is grown in these 3 states, then the state 

in which the crop PO is definitely not produced is 
a) GJ b) MR c) MP d) UP e) HR 

 
Additional Information for questions 8 and 9: Maximum possible number of crops are produced in equal quantities 
(by weight) by all the given states. Eg. if R is one such crop, exactly 1.3 kgs of R would be produced by each of the 
states. 
 
8. What is the number of crops that are not produced in equal quantities in the given states? 

a) 4 b) 3 c) 5 d) 1 e) 2 
 

9. At most what weight (in ‘000 tonnes) of the crop W can be produced in the state MP? 
a) 2.4 b) 2.8 c) 3.8 d) 4 e) 4.8 

 
Direction: In a certain board examination, students were to appear for examination in five subjects: English, Hindi, 
Mathematics, Science, and Social Science. Due to a certain emergency situation, a few of the examinations could not 
be conducted for some students. Hence, some students missed one examination and some others missed two 
examinations. Nobody missed more than two examinations. 

The board adopted the following policy for awarding marks to students. If a student appeared in all five 
examinations, then the marks awarded in each of the examinations were on the basis of the scores obtained by them 
in those examinations. 

If a student missed only one examination, then the marks awarded in that examination was the average of the 
best three among the four scores in the examinations they appeared for. 

If a student missed two examinations, then the marks awarded in each of these examinations was the average 
of the best two among the three scores in the examinations they appeared for. 
The marks obtained by six students in the examination are given in the table below. Each of them missed either one or 
two examinations. 
 

 English Hindi Mathematics Science Social Science 

Alva 80 75 70 75 60 

Bithi 90 80 55 85 85 

Carl 75 80 90 100 90 

Deep 70 90 100 90 80 

Esha 80 85 95 60 55 

Foni 83 72 78 88 83 

 
The following facts are also known. 
I. Four of these students appeared in each of the English, Hindi, Science, and Social Science examinations. 
II. The student who missed the Mathematics examination did not miss any other examination. 
III. One of the students who missed the Hindi examination did not miss any other examination. The other student who 

missed the Hindi examination also missed the Science examination. 
 
10. Who among the following did not appear for the Mathematics examination? 

 a) Carl b) Alva c) Esha d) Foni 
 

11. Which students did not appear for the English examination? 
a) Cannot be determined  b) Alva and Bithi 
c) Carl and Deep   d) Esha and Foni 
 

12. What BEST can be concluded about the students who did not appear for the Hindi examination? 
 a) Two among Alva, Deep and Esha  b) Alva and Esha 
c) Alva and Deep   d) Deep and Esha 

 
13. What BEST can be concluded about the students who missed the Science examination? 

a) Deep and Bithi   b) Alva and Bithi 
c) Alva and Deep   c) Bithi and one out of Alva and Deep 
 

14. How many out of these six students missed exactly one examination? 
 

15. For how many students can we be definite about which examinations they missed? 
 


